On each unit circle, draw the radius corresponding to each angle. The first two have been done for you.
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Questiont  Complete. . "
a Inthe i quadrant, all of the ratios are 'Dm R .
b Inthe l —"— quadrant, sine is {Mh}ﬁ but cosine and tangent are
e

¢ Inthe il quadrant, tangent is Po}l Fee but sine and cosine are
d Inthe U,_ quadrant, cosine is F)a]{] lgﬁ e but sine and tangent are
QuesTioN2  In which quadrant could @ lie if:

a sin®>0, cosf<0 I b tan8>0, sinB<0 _Dr
¢ cos8>0, sin®>0 T d tan6<0, cos6>0 1V

QuesTiIoN 3  In which quadrant (1%, 2, 3%, 4t) will the following angles lie?
a 110° ”, b 210° ,n.\.—_ c 49° ,L d 183° _Il
€ 308° __JV f 25° T g 97° I woasee IV

QuEesTIoN4 . Determine whether the given ratio will be positive or negative.

a sin1oo___ 20 b cos280° _ 20 ¢ tan6oe 2O

4 costoec <O e tan125° _ <O £ sin3se _ LO
g tan200° >0 h sin 56° 20 i cos 225° <O
j cos70° 20 k tan333° <O  sin2sse _ <O

»

QUESTION S | In which quadrant will the following angles lie? . :
a 35 L b 5100 I ¢ asee_ AL d 7100
e 755 _ 1 f oose LT g 400 L h 1000° l
i 250 _ IV i -3 ][] k --185° __]| t -300° L
m -200° I no-79° _ N\ o -os_ I p -265° e




1 State whether each of these trigonometric ratios is positive or negative.

a sin70° >0 b cos25° O ¢ tanll0° <O d cosl04° <O
e tan18° >0 f sinl156° >0 g tan163° <O h sin108° >O

i sin15°20° O j w@n81°17 DO Kk cos142°35 <O 1 tan119°26’ <O

m cos54°6" >0 n sin91°43" YO0 o cos174°30° <O p sin 122°55" O

2 State whether the angle 9 is acute or obtuse, where 0° < 6 < 180°, if:

a sin0>0andtan0>0 awl b sin6>0andcos®@<0 obfuse
¢ tanO®<0andcos®<0 pgbtwe d cos0>0andtan®>0 acble
e sin®>0andtan®<0 obtuse f sin®>0andcos®>0 oamle

3 Express each of the following trigonometric ratios in terms of an acute angle.

( a sin 100° b cos 140° ¢ tan 160° d cos125%s
= A (180-B0)  zwcn(B0-40) =AWIO WD = _cn 4L
i = - 40 o (60 -Cn20
= 4w80 = —tfam20
e tan 134° f sin 152° g tan 101° h sinl115°
= — fam 46 = ym28’ = —ta¥H = AMES
i cos 108° Jj sin 164° k tan 122° I cost71°
= —(A 1] = mn b = - fan 58 M/q

= — (o

5 Find two possible angles 6, where 0° < 8 < 180°, correct to the nearest degree.
( a sin6=0.1564 b sin 8 =0.2657 ¢ sin 0=0.8371
" @‘-‘-‘10 9: ,50 9=5’+°
Sl ©°
or O=IF° | or D=16S or B=12%

d sin 0 =0.6049 e sin 0=0.0695 f sin©6=04224
B=37° D= 4° 6=25°
"
or Bz 4y or =136 or B= 150
g sine=0.1827 h sin9=0.7599 i sin®=03914

&= I° 0= 4’ 8. ] 20
or =169 or B=13° of B-15F



QuesTion 1

If 0° <6< 90° and sin 8 = 0.528 write down the value of:
a sin (180" + 9)

b sin (360° - 6) ¢ sin (180° - 6)
2 (19049) - —An® \ Ain (360 ~8)= An B60HB) 4in (180-8) = 4O
= =0.528 = s (-8) = — 4w & — 0.518
= -0.528
QuESTION 2

If 0° £ o< 90° and tan o = 1.237 write down the value of:
a tan (180° - a)

b tan (360° - o)

c tan (180° + «)
ok (180 =X) = i (180-) \ T (3600)= n (360 +(Y)

Fou (180 +o<) = mum (180 + ¢}
‘ o (180—X) = tan (&) = ~tanX @ (180 +)
_ X s g e AEEE o i P
=7 = —faX = =~ 2%+ S it B
R —1.23% _\ N X!
d tan (-o) \ e tan (360° + «) .
( o ()= piw (o) o =X tom (360 +1) = ot = 1.23%
| s (-x) X
QuEsTiIoON 3 | Given that cos 60° = 0.5 find:
a cos 240° b cos 120° ¢ cos 300° d cos 420°
n260=-w60 ) @ l20< -0 \ @200< @ (-60) cos 42D = (o (360 + 60)
= w0l =-0.5 ) =0.S =60
v =0.5
QuesTion 4 If sin 23° = 0.391 (correct to 3 decimal places), write down the value, to 3 decimal places, of:
a sin 337° b sin 203° ¢ sin (-237) d sin 157° .
#3532 o (34D-13) \ 2w 2032 1im (I80123)) pin (23) —— i 23 ) A IS = ain (180 - 23)
= o (23) = — 23 | — = —Ain23 s = mn 23
:~03‘|l —_—=—=0.371 - Y = 0.29|
(~ e sin 383° f sin 563° \9g sin (-157°) h cos 67°
i (383) = i (360+23)) min 563 = i (360+203) \ i (~153) S ISP (2 67 = b (%0 - 23)
— = wld — = 203 = —mm(80-23)) __ _ i 23
— =0.291 —— = m(180+23) [ — = — Am23 _ 0.29)
' — = —Am22 | — = —0.29]
NPT g W, |
Find two possible angles o, where 0 < a <360, correct to the nearest degree.
cos o= 0.4578 cos o.= 0.1234 cosa= —0.56
o = 63° or A =83°

A = l?.l/-" '
o = ~63° whidin 297° | ord=-83uhidia 2FF | or (= - 124" whidl o 226"

6 Find the obtuse angle 0, correct to the nearest degree.
a cos9=-0.5218
B=IL1°

b tan®=-0.1243 ¢ cos6=-0.1921

B= -7 B=100°
oIt



